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What do you get when you substitute h = 0 into your answer? &% —%

2. Compute the average rates of change of the following functions on the given intervals
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Dlsc/us’s;on How do these average rates of change relate to the graphs of f(x
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3. What is the definition of an even function?
f(—=x) = £ (%)

What is the definition of an odd function?
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4. Justify the following statements

If F(z) and G(z) are both odd functions then F'(x) + G(x) is odd
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If F(z) and G(z) are both odd functions then F(x) x G(z) is even
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5. Determine whether the following are odd, even or neither.
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6. Find the domain of each of the functions
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7. Find the inverse of the function
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Verify that what you found is indeed the inverse of f(x).
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(@) f(z) = —(z —4)*+3

(b) £(@) = (@ + 12(x — ) DEGREE 3,  Psibve lading ten~

. Sketch a graph of the functions above, clearly showing clearly all z— and y—intercepts, and
the vetex, if appropriate.
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If the remainder is 0, then the divisor is a factor.
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9. Let f(x) :L; and g(z) @ (’!f - L(
!
Compute g( /) =

Give a simplified expression for f(g(z))
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10. Seeds-And-Spores is a small family farm that is located on the banks of the Chocolay River
just south of Marquette, MI. Suppose Jeff, one of the farmers, has 2000 ft of fencing that

he wants to use to fence off a rectangular field that borders the I‘lVél( What are the
dimensions of the field of largest area that he can fence?
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11. Fill in the blank: I tell my friends this class is
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Discussion: How do these average rates of change relate to the graphs of f(z) = % and
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3. What is the definition of an even function?
fl-x) = £

What is the definition of an odd function?
(- D) = =)

4. Justify the following statements

If F(z) and G(x) are both odd functions then F(z) 4+ G(x) is odd
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If F(x) and G(x) are both odd functions then F(z) * G(z) is even
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5. Determine whether the following are odd, even or neither.
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6. Find the domain of each of the functions /
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Verify that what you found is indeed the inverse of f(x).
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9. Let f(z) = z;; and g(x) = —
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Give a simplified expression for f(g(z))
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10. Seeds-And-Spores is a small family farm that is located on the banks of the Chocolay River
just south of Marquette, MI. Suppose Jeff, one of the farmers, has 2000 ft of fencing that
he wants to use to fence off a rectangular field that borders the riven What are the

dimensions of the field of largest area that he can fence?
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8. Sketch a graph of the functions above, clearly showing clearly all z— and y—intercepts, and

the vetex, if appropriate.




